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HRRETBERILRESEHGORERVERICETOIEN RFRFE2 (FE145HR)
BT REE WEE
e &% X431 X2 X5 X4 B v AT[E PRI [———
BEILE (FERFA FIF21TR IRE - A fE (9FF ~13FF) 4h H26.4.1] 2,730 4,090 149.8%
£ R %0)@2 'R & - A1 (138 ~ 178F) 4h H26.4.1] 2,730 4,090 149.8%
I~ERT 55 IRE - 1 (95~ 178%) 8h H26.4.1| 5,500 8,180 148.7%
\RE - &4 (B 1h H26.4.1 810 1,210 149.4%
—f% -4 (9B~ 138F) 4h H26.4.1] 5,500 8,250 150.0%
— g - & (130~ 178F) 4h H26.4.1| 5,500 8,250 150.0%
— A% - A (9B~ 176F) 8h H26.4.1] 11,000 16,500 150.0%
—fi% -4 (BS54 1h H26.4.1] 1,630 2,440 149.7%
= A (9~ 13F%) 4h H28.4.1| 2,750 4,120 149.8%
= i (13~ 178F) 4h H28.4.1| 2,750 4,120 149.8%
S EhE (9B ~178%) 8h H28.4.1] 5,500 8,240 149.8%
= i (BFfEIS%) 1h H28.4.1 810 1,210 149 4%
ZTDHDEYIZ (9B ~ 138) 4h H26.4.1| 11,000 16,500 150.0%
ERY45E (1385~ 178%) 4h H2641| 11000  16500f  150.0%
(9B ~178F) 8h H26.4.1] 22,000 33,000 150.0%
(FFfE4Y) 1h H26.4.1] 3,300 4,950 150.0%
BARUOEIKE (@8 AF A IR & - 4 4 (9BF ~ 130%) 4h H26.4.1 40 60 150.0%
& IRE -4 (13~ 170%) 4h H26.4.1 40 60 150.0%
IRE -4 (176 ~218F) 4h H26.4.1 40 60 150.0%
RE-4£fE(E#HF 110 H26.4.1 400 600 150.0%
— g -4 (9FF ~ 13H%) 4h H26.4.1 80 120 150.0%
— % - A (1305~ 178F) 4h H26.4.1 80 120 150.0%
—i% -4 (178 ~218) 4h H26.4.1 80 120 150.0%
—H% - F 4 (EIEFHF1150 H26.4.1 800 1,200 150.0%
= lnE (9B ~ 138F) 4h H28.4.1 40 60 150.0%
S ESE (1385~ 178F) 4h H28.4.1 40 60 150.0%
SHE (178 ~218F) 4h H28.4.1 40 60 150.0%
= A (EEER1180) H28.4.1 400 600 150.0%
ESVERERE AT RE-H£H£GA-1[1]) H26.4.1 30 -
L’_C‘;‘éi’%é") —fi%-FE (U A-1[E) H26.4.1 60] BRI =
INEZE SEE (1 A-1E) H28.4.1 30 =
5% &% fim HABLERE (9B ~ 130%) 4h H26.4.1| 1,100 1,650 150.0%
(13~ 17HF) 4h H26.4.1] 1,100 1,650 150.0%
(9B ~ 178F) 8h H26.4.1| 2,200 3,300 150.0%
(BFREIS) 1h H26.4.1 530 790 149.1%
E5 R (2R RE-H(EK5LT-1h) H26.4.1] 1,310 -
FMANSZE) HE - (1/25KT-1h) H264.1] 650 -
— % FHE (2 HT-1h) H26.4.1] 2,630 o —
—fB -2 (1/282KT-1h) H26.4.1] 1,310 -
= EnE (£8LT-1h) H28.4.1| 1,310 -
SERE (1/22%T - 1h) H28.4.1 650 -
FHE - EeBkA—X H26.4.1 100 150 150.0%
Ak —= H26.4.1 100 150 150.0%
REBEHE H26.4.1 100 150 150.0%
j& 1h Bl 7E 25 H26.4.1 100 150 150.0%
BEEEYM— H26.4.1 100 150 150.0%
Hyh—a3—)LARXE 1 I - 100 -
LR DED1 = H26.4.1 40 60 150.0%
BRI [FERFE FIF21TR IREE - A (9FF ~13FF) 4h H28.4.1 620 930 150.0%
EnpiEsde RV EDEY RE - 4 (138~ 178%) 4h H284.1] 620 930} 150.0%
ISERT 55 IRE - £ 1 (9B ~178F) 8h H28.4.1| 1,250 1,860 148.8%
\RE - £ 4 (BFESL) 1h H28.4.1 170 250 147.1%
— A% -S4 (9FF ~ 136F) 4h H28.4.1] 1,250 1,870 149.6%
— g - & (1305~ 178F) 4h H28.4.1| 1,250 1,870 149.6%
—fi% -4 (9OFF ~17HF) 8h H28.4.1] 2,500 3,740 149.6%
—R% -4 (BFRESE) 1h H28.4.1 340 510 150.0%
= E5E (9FF ~ 130%) 4h H28.4.1 620 930 150.0%
= i (13~ 178F) 4h H28.4.1 620 930 150.0%
SN (9B ~178%) 8h H28.4.1] 1,250 1,860 148.8%
= iinE (BFRESh) 1h H28.4.1 170 250 147.1%
ZDMDEYIZ (9B ~ 138) 4h H26.4.1| 2,510 3,760 149.8%
ERY45E (1385~ 178%) 4h H264.1] 2510 3760,  149.8%
(9B ~178F) 8h H26.4.1] 5,040 7,520 149.2%
(FfE5h) 1h H26.4.1 750 1,120} 149.3%
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BT HEE BEE
i & X531 X452 X433 X554 B4 MESE [ oo o | mammme

BHWE (ERFA - IRE - A fE (9FF ~ 13FF) 4h H26.4.1 700 1,050 150.0%
5 IRE -4 (136~ 1768%) 4h H26.4.1 700 1,050 150.0%
IRE - £ 4 (9B ~ 178F) 8h H26.4.1| 1,410 2,100 148.9%
\RE - &4 (BFfESL) 1h H26.4.1 180 270 150.0%
— % -4 (9FF ~ 13FF) 4h H26.4.1| 1,460 2,190 150.0%
—A% -4 (130~ 178) 4h H26.4.1] 1,460 2,190 150.0%
— %4 (9FF~17FF) 8h H26.4.1] 2,930 4,380 149.5%
— % -4 (FFRES)) 1h H26.4.1 390 580 148.7%
S EhE (9B~ 130%) 4h H28.4.1 730 1,090 149.3%
S E4E (1385~ 178F) 4h H28.4.1 730 1,090 149.3%
= (9B ~178F) 8h H28.4.1] 1,460 2,180 149.3%
= E (FFfESE) 1h H28.4.1 190 280 147.4%
BAEE - IRE-4£1E1h H26.4.1 160 240 150.0%
\RE - &4 (B4 1h H26.4.1 180 270 150.0%
—f%-F41h H26.4.1 340 510 150.0%
—R% -4 (BFRESE) 1h H26.4.1 390 580 148.7%
EEE1h H28.4.1 170 250 147.1%
= i (FFfEIS) 1h H28.4.1 190 280 147.4%
M E% &% fim BABEREE (9B~ 130%) 4h H26.4.1 650 970 149.2%
(138~ 1785) 4h H26.4.1 650 970 149.2%
(9B ~178F) 8h H26.4.1] 1,310 1,940 148.1%
(EFfE4Y) 1h H26.4.1 310 460 148.4%
REE (9B ~ 130F) 4h H26.4.1 260 390 150.0%
(138~ 1785) 4h H26.4.1 260 390 150.0%
(9BF ~178F) 8h H26.4.1 530 780 147.2%
(EFRE4Y) 1h H26.4.1 125 180 144.0%
Yyh)— 1TA-1E H26.4.1 20 30 150.0%
#=E 18 H26.4.1 40 60 150.0%
E 4\ B2 AR 1M 1h H26.4.1 160 240 150.0%
BEILK |FAFA 25m RE-£fEh H28.4.1] 460 690f  150.0%
KT—I — -4 1h Hog 41| 930 1,390 149.5%
EEE1h H28.4.1 460 690 150.0%
50m IRE-4E1h H28.4.1 990 1,480 149.5%
—f&-F 4 1h H28.4.1] 2,000 3,000 150.0%
SEE1h H28.4.1 990 1,480 149.5%
FeIA IRE-&41h H28.4.1 990 1,480 149.5%
—f&-F 4 1h H28.4.1] 2,000 3,000 150.0%
=& 1h H28.4.1 990 1,480 149.5%
BARVEAEES |{EAFA IRE -4 4E2h H28.4.1 100 150 150.0%
RE-E 4 (B#HF11H) H28.4.1] 1,000 1,500 150.0%
—fi%-F42h H28.4.1 200 300 150.0%
— A% -4 (EIEZF 1150 H28.4.1] 2,000 3,000 150.0%
=& 2h H28.4.1 100 150 150.0%
= s (EEER1180) H28.4.1 1,000 1,500 150.0%
M E% &% il HANEEE (9B ~ 130F) 4h H26.4.1| 1,100 1,650 150.0%
(13FF~17HF) 4h H26.4.1] 1,100 1,650 150.0%
(9BF ~178%) 8h H26.4.1] 2,200 3,300 150.0%
(B¥FE4Y) 1h H26.4.1 530 790 149.1%
REE (9BF ~ 130%) 4h H26.4.1 530 790 149.1%
(138~ 178F) 4h H26.4.1 530 790 149.1%
(9B ~178F) 8h H26.4.1| 1,100 1,580 143.6%
(FFfE4Y) 1h H26.4.1 530 790 149.1%
RCERE (9B ~ 131F) 4h #E% = 790 -
(1385 ~178%) 4h % - 790 -
(9BF ~178F) 8h ek - 1,580 -
(BFREIS) 1h ek - 790 -
NL—=5 = (9B~ 1308F) 4h E% - 930 -
(1385 ~178F) 4h B - 930 -
(9BF ~178) 8h % - 1,860 -
(B¥FE41) 1h % - 930 -
FEBA(25m) 1h I - 720 -
HEBA(50m) 1h % - 1,440 -
RE J—2RA—7 (50m) 1[a] & - 2,420 -
BAYX— AT L(25m) 10 ek _ 6,820 _
BAIX— AT L(50m) 1@ s _ 17.030 _
A GRAROBR) | S 1h e - 280 -
FLERE 1h i - 280 -
N—=UT=E 1h B — 330 -
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11T BWEE WEE
# R4 K432 X453 | Roa B e [

HEfRE |FRFA T =& FIFATR |- R & - A fE (9FF ~ 13FF) 4h H26.4.1| 15150 22,720 150.0%
7"‘__“/%0)@ IRE -4 (1365~ 178%) 4h H26.4.1] 15,150 22,720 150.0%
igléﬁﬁﬁa‘é IRE -4 (9~ 17FF) 8h H26.4.1] 30,320 45,440 149.9%

\RE - &4 (BFfESL) 1h H26.4.1] 4,150 6,220 149.9%
— & -4 (9K~ 130%) 4h H26.4.1| 18,490 27,730 150.0%
—A% -4 (130~ 178) 4h H26.4.1] 18,490 27,730 150.0%
— A% -S4 (9B ~178%) 8h H26.4.1] 36,990 55,460 149.9%
— % -4 (FFRES)) 1h H26.4.1] 5,070 7,600 149.9%
S EhE (9B~ 130%) 4h H28.4.1] 15,150 22,720 150.0%
SH5E (1385~ 178F) 4h H28.4.1| 15,150 22,720 150.0%
= (9B ~178F) 8h H28.4.1] 30,320 45,440 149.9%
= E (FFfESE) 1h H28.4.1] 4,150 6,220 149.9%
ZTDDEY |- JEE F) B 89 (9FF ~ 13F%) 4h H26.4.1] 25,150 37,720 150.0%
Egﬁj—é% JEEFI B (138~ 178%) 4h H26.4.1| 25,150 37,720 150.0%
= JE=EF B B (9FF ~ 178%) 8h H26.4.1] 50,320 75,440 149.9%
JEEF B B (BFRE5Y) 1h H26.4.1| 6,900 10,350 150.0%
EH B/ (9K~ 138F) 4h H26.4.1] 104,180] 156,270 150.0%
=5 B8 (130~ 1765) 4h H26.4.1] 104,180 156,270 150.0%
=5 B9 (9FF~ 178F) 8h H26.4.1] 208,370] 312,540 150.0%
= B e (BFfE S 1h H26.4.1] 28,640 42,960 150.0%

HEfE |ERAAAE BRAEOEISZ R FRFATAR |8HEGE |(RE- 44 (9B ~138)4h H26.4.1] 4,110 6,160 149.9%
R—VEDHE (15 (X0 [im5. £4% (1385~ 176%) 4h H26.4.1] 4110 6,160 149.9%
gkgﬁﬁ_%’ c&) IREE - £ 4 (9B ~ 178F) 8h H26.4.1| 8,230 12,320 149.7%

- \RE - £ 4 (B4 1h H26.4.1] 1,130 1,690 149.6%
bL—= |IRE- £ (9K~ 13FF) 4h H26.41] 3570 5,350 149.9%
27— 1B E 4 (1385 ~1785) 4h H26.4.1] 3570 5,350 149.9%
L IRE A (9B~ 176F) 8h H26.4.1] 7,160 10,700 149.4%

\RE - A4 (BfESH) 1h H26.4.1 970 1,450 149.5%
XS R E - A E (9B~ 138) 4h H26.4.1] 1,630 2,440 149.7%
IRE A4 (1365~ 178%) 4h H26.4.1] 1,630 2,440 149.7%
IREE - £ 4 (9B ~ 178F) 8h H26.4.1| 3,300 4,880 147.9%
\RE - &4 (BFfESL) 1h H26.4.1 550 820 149.1%
V743 |IRE - A (O~ 138F) 4h H26.4.1] 610 910 149.2%
9 IRE - 414 (1365~ 178F) 4h H26.4.1 610 910 149.2%
VA= IRE - 41 (9FF ~178%) 8h H26.4.1] 1,240 1,820 146.8%
\RE - & 4E (BFRESL) 1h H26.4.1 200 300 150.0%
TRAKE | —f% -4 (9B ~13BF) 4h H26.4.1] 5,220 7,830 150.0%
5 (&0 |— 524 (1385~ 178%) 4n H26.4.1| 5,220 78300 1500%
<) — A% -4 (9~ 17FF) 8h H26.4.1] 10,460 15,660 149.7%
— % -4 (BFREIS) 1h H26.4.1] 1,420 2,130 150.0%
hL—= | —#&-2P4 (9BF~ 13KF) 4h H26.4.1] 5430 81400  149.9%
VT [— g g (1305~ 178%) 4h H26.4.1] 5,430 8,140 149.9%
4 — A% -4 (9B ~178%) 8h H26.4.1] 10,890 16,280 149.5%
—R% -4 (BFRESE) 1h H26.4.1] 1,480 2,220 150.0%
XS |—f8 -4 (9B~ 1365) 4h H26.4.1] 2,200 3,300 150.0%
—h% -4 (138 ~178F) 4h H26.4.1] 2,200 3,300 150.0%
— A% -4 (9FF~17FF) 8h H26.4.1] 4,400 6,600 150.0%
—h% -4 (FFfE4E) 1h H26.4.1 700 1,050 150.0%
V4% | —#&- P4 (9FF~ 138F) 4h H26.4.1| 820 1230]  150.0%
7 — g - =2 (1385~ 178%) 4h H2641] 820 1230]  150.0%
e als —fi% -4 (9FF ~178%) 8h H26.4.1| 1,650 2,460 149.1%
—R% -4 (B SE) 1h H26.4.1 260 390 150.0%
BAOE |SEhE (9B~ 138 4h H28.4.1| 4,110 6,160 149.9%
%(%B% SEE (1365~ 178%) 4h H28.4.1] 4,110 6,160 149.9%
c&) S E (95 ~178%) 8h H28.4.1] 8,230 12,320 149.7%
= i (FFfEIS%) 1h H28.4.1| 1,130 1,690 149.6%
Fo—= |Z# & (9B ~ 138%) 4h H28.4.1| 3570 5,350 149.9%
YT [EEE (138 ~178) 4h H28.4.1| 3570 5,350 149.9%
A = inE (9B ~178F) 8h H28.4.1| 7,160 10,700 149 4%
= E (FFESE) 1h H28.4.1 970 1,450 149.5%
S | SEhE (9F ~ 138F) 4h H28.4.1] 1,630 2,440 149.7%
S E (1385~ 178F) 4h H28.4.1] 1,630 2,440 149.7%
= 5 E (9B~ 176F) 8h H28.4.1| 3,300 4,880 147.9%
= i (BFREIS%) 1h H28.4.1 550 820 149.1%
T4 |E#E (9K~ 13FF) 4h H28.4.1] 610 910 149.2%
>7 = i (13~ 178F) 4h H28.4.1 610 910 149.2%
VF—I S EhE (9B ~178%) 8h H28.4.1] 1,240 1,820 146.8%
= E (FFfESE) 1h H28.4.1 200 300 150.0%
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Bﬁ = IZ/\‘I VAN VAN VAN 3 L & ) ﬁ?? e B
5 7 X572 X573 X734 B BB | o | sememims

HEfE (ERAA BAEOEIZR TOMDEY |BEE |FEEFIB B (9B~ 138F) 4h H26.4.1] 6,410 9,610 149.9%
E;ﬁ;ﬁéd’éi% i_%é)%[‘%‘ JEEFI B B (138~ 178%) 4h H26.4.1] 6,410 9,610 149.9%
= = JEEF B # (9FF ~ 178F) 8h H26.4.1| 12,840 19,220 149.7%
JEEF B B (B 5Y) 1h H26.4.1| 3,520 5,280 150.0%
=3 B K (9FF~ 136F) 4h H26.4.1] 26,700 40,050 150.0%
= F| B8 (1385~ 178F) 4h H26.4.1| 26,700 40,050 150.0%
=5 B8 (9 ~170%) 8h H26.4.1] 53,420 80,100 149.9%
=5 B (S 1h H26.4.1| 7,330 10,990 149.9%
HEE |(EAFGES - - - IRE - £ 4#2h H26.4.1 90 130 144.4%
RE-H4E(B#EHF11H) H26.4.1 900 1,350 150.0%
— & -F 4 2h H26.4.1 160 240 150.0%
—H% - F 4 (EEFHF1150 H26.4.1] 1,600 2,400 150.0%
= #5E2h H28.4.1 90 130 144 4%
SEE (EHEHF11850) H28.4.1 900 1,350 150.0%
5% &% fim T7)—F KEBRGEE |- (9B ~ 131F) 4h H26.4.1| 12,440 18,660 150.0%
(13BF~17HF) 4h H26.4.1| 12,440 18,660 150.0%
(985~ 178%) 8h H26.4.1| 24,910 37,320 149.8%
(FFRE4Y) 1h H26.4.1] 3410 5,110 149.9%
BABEEE |- (9B~ 130%) 4h H26.4.1] 1,230 1,840 149.6%
(138~ 1785) 4h H26.4.1] 1,230 1,840 149.6%
(9BF~178F) 8h H26.4.1] 2,470 3,680 149.0%
(BEREISN) 1h H26.4.1 600 900 150.0%
BREELE |- (9B ~ 130%) 4h H26.4.1] 11,340 17,010 150.0%
(138~ 1785) 4h H26.4.1| 11,340 17,010 150.0%
(9B ~178F) 8h H26.4.1] 22,710 34,020 149.8%
(EFRE4Y) 1h H26.4.1| 3,110 4,660 149.8%
®E=E - (9BF ~ 138) 4h H26.4.1 310 460 148.4%
(138~ 1785) 4h H26.4.1 310 460 148.4%
(9BF ~ 178%) 8h H26.4.1 650 920 141.5%
(BFREISH) 1h H26.4.1 100 150 150.0%
= - (9B ~ 130%) 4h H26.4.1 310 460 148.4%
(138~ 178F) 4h H26.4.1 310 460 148.4%
(9BF ~178) 8h H26.4.1 650 920 141.5%
(BFfE4h) 1h H26.4.1 100 150 150.0%
HE AR fm - 2R % - 3,720 -
473 DI RKT E% - 2,820 -
25 M1 AT ek - 1,620 -
47 M1 RLT I - 1,140 -
RGBSR BABEEE |- (9B ~ 131F) 4h H26.4.1| 1,230 1,840 149.6%
(13~ 17HF) 4h H26.4.1] 1,230 1,840 149.6%
(9B ~178F) 8h H26.4.1] 2,470 3,680 149.0%
(FFfE4Y) 1h H26.4.1 600 900 150.0%
REE - (9B ~ 130F) 4h H26.4.1 580 870 150.0%
(13BF~178F) 4h H26.4.1 580 870 150.0%
(9FF~17HF) 8h H26.4.1] 1,180 1,740 147.5%
(EFRE4Y) 1h H26.4.1 160 240 150.0%
HHE= - (9B ~ 138) 4h H26.4.1 580 870 150.0%
(138~ 1785) 4h H26.4.1 580 870 150.0%
(9BF ~178) 8h H26.4.1] 1,180 1,740 147.5%
(BEREISN) 1h H26.4.1 160 240 150.0%
EE=E - (9B ~ 130F) 4h H26.4.1 310 460 148.4%
(138~ 1785) 4h H26.4.1 310 460 148.4%
(9B ~178F) 8h H26.4.1 650 920 141.5%
(FFRE4Y) 1h H26.4.1 100 150 150.0%
®E=E(HiES) - (9BF ~ 130F) 4h H26.4.1 310 460 148.4%
(13FF~17HF) 4h H26.4.1 310 460 148.4%
(9BF ~ 178%) 8h H26.4.1 650 920 141.5%
(BFREISH) 1h H26.4.1 100 150 150.0%
e - (9B ~ 130F) 4h R - 130 -
(13FF~178F) 4h E% — 130 -
(9BF ~178F) 8h ek - 260 -
(BFREISE) 1h ek - 40 -
HE AR fm - £ mT Ex - 1,050 -
(5 —8AkE 45 DI EAT s - 690 -
) 25 D1 S KT 55 - 510 .
47 M1 RLT E% - 270 -
A s = E3=09] ek - 1,500 -
(55 — SR Ak:E 45 DIELT #is ] 1,050 -
) 257 MD1 =T % - 750 -
45 MD1H=LT #E - 450 -
HR AR fm - £ mT I - 1,500 -
(5 =8ALE 45 D3 |KT #Ek = 1,080 -
%) 25D 1 AT 25 = 720 .
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274 . \ A5 MD1 =T Ex - 360
275 DAV BEA—R) | — 1h %ﬁg& — 180
276 IS5ASo BB GRILE U2 ) 1h 25 _ 120
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b'ﬁ = VAN N\ N\ N\ 3 L a =) iﬁ?ﬁ_ &E% &EE
A X571 X572 X573 X574 B BB | o | sememims
HEfE [(HE - - - BARTEE—A H26.4.1 530 790 149.1%
NURR—)LT—)L—=K H26.4.1 210 310 147.6%
B} ARy VrE—R H26.4.1 210 310 147.6%
INFEURRAZHE— H26.4.1 100 150 150.0%
BEe— H26.4.1 100 150 150.0%
NL—R— )LAZE—H H26.4.1 100 150 150.0%
EH1& H26.4.1 50 70 140.0%
B F 11 H26.4.1 10 10 100.0%
AR (ERMNAOSE) | 71)—F 1R - - 7')—F 1h H26.4.1] 12,220 18,330 150.0%
ZEZE 1h H26.4.1 100 150 150.0%
EE 1h H26.4.1 100 150 150.0%
BREOE ISR - - BREGES (BBECE) 1h H26.4.1] 1,750 2,620 149.7%
fL—=2%F)L—L 1h H26.4.1 550 820 149.1%
LEE 1h H26.4.1 160 240 150.0%
HHEZE 1h H26.4.1 220 330 150.0%
BEZE 1h H26.4.1 100 150 150.0%
HZEEGBES) 1h H26.4.1 100 150 150.0%
BREEZ= 1h #E% - 40 -
BRWS (ERAFA ASGHEEEHIRL |- - IR & - 4 1k (985 ~ 130F) 4h H26.4.1] 2,460 3,690 150.0%
&5 TGS B & - 4 (1385~ 178%) 4h H26.4.1] 2,460 3,690 150.0%
IRE - £ 4 (9B ~ 178F) 8h H26.4.1| 4,950 7,380 149.1%
IBE - 44 (178 ~218%) 4h H26.4.1] 3300 FEELt -
\RE - &4 (BFRESL) 1h ek - 1,240 -
— g -4 (9FF ~ 13%) 4h H26.4.1] 3,300 4,950 150.0%
— % - A (1305~ 178F) 4h H26.4.1] 3,300 4,950 150.0%
—f8 -5 (9B ~178F) 8h H26.4.1] 6,600 9,900 150.0%
— %A (178 ~216F) 4h H26.4.1] 4,950 BElb -
—h% -4 (FFfESE) 1h #E% - 1,860 -
S EhE (9B~ 130%) 4h H28.4.1] 2,460 3,690 150.0%
S YA (1365~ 178%) 4h H28.4.1] 2,460 3,690 150.0%
= inE (9 ~178F) 8h H28.4.1| 4,950 7,380 149.1%
SEE (178 ~218F) 4h H28.4.1| 3300 FEELt -
= i (FFfEIS%) 1h & - 1,240 -
(EPNE - - - IREE - A fE (9B ~138F) 4h H26.4.1 110] EELt -
IRE -4 (1365~ 178%) 4h H26.4.1 110] BELt -
IRE - E (OB ~178) 2h(2DE | #HF% - 80 -
RE - (B#HF11H) i - 800 =
IRE -4 (178 ~218) 4h H26.4.1 170 ik -
\RE -4 fE (BFfESL) 1h R - 60 -
\RE - 4 (BIEF118- &) B - 600 -
—f% -5 (9B~ 138F) 4h H26.4.1 230 R -
— % -4 (1365~ 178F) 4h H26.4.1 230 Rl -
—f% -4 (O~ 178%) 2h[2DE | R — 170 -
— % -4 (B 1140) i - 1,700 -
— & -4 (1785 ~2108%) 4h H26.4.1 330] FRELE -
—i% - A (BFfESY) 1h b - 120 -
— % -4 (EIEF 1148 & HE) % - 1,200 -
= ihE (OB~ 138%F) 4h H28.4.1 10| RELE -
S #hE (1385~ 178F) 4h H28.4.1 110| EELE -
SE (OB~ 178F) 2h(Z D& i - 80 -
= s S (1180 ek - 800 -
SihE (178 ~218F) 4h H28.4.1 170] EELE =
= iinE (BFRESh) 1h #E% = 60 -
=S (E 1180 )/ HER - 600 -
MeE% E% i S—TAUTE |- - (9B ~ 130%) 4h % - 190 -
(1385~ 178F) 4h b - 190 -
(9BF ~178F) 8h ek - 380 -
(BFFE4Y) 1h B - 190 -
EyEE - - (9B ~ 130F) 4h HER - 100 -
(13FF~178F) 4h E% — 100 -
(9BF ~178F) 8h ek - 200 -
(BFREISE) 1h ek - 100 -
H2BA G=RY) - - 1h ek — 300 -
HZBA GREAY) = = 1h HER - 90 -
AR ERNACSES) [S—F 45 % |- - 1h e - 70 -
B = - - 1h T - 40! .
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Bﬁ EQ IZ/\‘I B/\Z E/\3 |Z/\4 $ 1-1- 2 = iﬁ'?T BUER BEE
A 7 7 7 7 = BB | o | sememims
HRimBkE | EHFA FIF1TR IR & - 4 1k (985 ~ 130F) 4h H28.4.1 620 930 150.0%
15 #j’—“/%@%% R E - A1 (138~ 176F) 4h H284.1| 620 930 150.0%
I~ERT 555 IRE - 1 (9B~ 178F) 8h H28.4.1| 1,250 1,860 148.8%
\RE - &4 (BFfESL) 1h H28.4.1 170 250 147.1%
— & -4 (9K~ 130%) 4h H28.4.1| 1,250 1,870 149.6%
—A% -4 (130~ 178) 4h H28.4.1] 1,250 1,870 149.6%
— %4 (9FF~17FF) 8h H28.4.1] 2,500 3,740 149.6%
— % -4 (FFRES)) 1h H28.4.1 340 510 150.0%
S EhE (9B~ 130%) 4h H28.4.1 620 930 150.0%
SH5E (1385~ 178F) 4h H28.4.1 620 930 150.0%
= (9B ~178F) 8h H28.4.1] 1,250 1,860 148.8%
= E (FFfESE) 1h H28.4.1 170 250 147.1%
ZDRDEIZ (9B ~ 130%) 4h H28.4.1] 2,510 3,760 149.8%
BT 556 (138 ~ 178F) 4h H2s 41| 2510 3760  149.8%
(9B ~178F) 8h H28.4.1] 5,040 7,520 149.2%
(FFRE4Y) 1h H28.4.1 750 1,120 149.3%
BARUVEE |- EEBREOBEARVAGEEOLEREEC-E| H26.4.1 0 -
e 5% &% fim REE (9B ~ 130%) 4h H26.4.1 260 390 150.0%
(1305~ 178F) 4h H26.4.1 260 390 150.0%
(9BF ~178F) 8h H26.4.1 530 780 147.2%
(FFRE4Y) 1h H26.4.1 100 150 150.0%
Yy — 1T A-1[H H26.4.1 20 30 150.0%
S4 7L [ ERF A AEHZEIRL IR E - 4 {£4h H26.4.1] 8,730 13,090 149.9%
215 TGS —fi% -4 4h H26.4.1] 17,480 26,220 150.0%
= & 4h H28.4.1| 8,730 13,090 149.9%
BAEE - IRE - 4 fE2h H26.4.1 220 330 150.0%
RE -4 (B#HF11H) H26.4.1] 2,200 3,300 150.0%
RE-SH(EHHFH1F) H26.4.1| 11,000 16,500 150.0%
—fi& -4 2h H26.4.1 450 670 148.9%
—H% -4 (EEFF1150 H26.4.1] 4,500 6,750 150.0%
— -4 (AR 14E) H26.4.1| 22,500 33,750 150.0%
EEE2h H28.4.1 220 330 150.0%
= A (AR50 H28.4.1| 2,250 3,370 149.8%
SEE (EHHF1F) H28.4.1] 11,250 16,870 150.0%
BerER (EARAFA - IREE - £ 4 (9B ~ 128%) 3h % - 2,910 -
55 IRE - A E (1205 ~158%) 3h #E% — 2,910 -
IRE - £ 4E (158 ~ 188%) 3h % - 2,910 -
\RE - &4 (BFfESL) 1h #E% - 970 -
—f8 -5 (9B ~128F) 3h ek - 4,890 -
— % - 224 (128~ 15B%) 3h % - 4,890 -
— % -S4 (158~ 188%) 3h % - 4,890 -
— % -4 (BFRESY) 1h s - 1,630 -
= 55 (9B~ 128F) 3h #E% - 2,910 -
= i (1285~ 158F) 3h HER - 2,910 -
= #i5E (1585~ 18FF) 3h i - 2,910 -
= i (BFREIS) 1h #ER - 970 -
BANEE - IREE - A fE (9B ~128%) 3h s - 120 -
IRE - £ 4E (1285 ~ 158%) 3h Ex = 120 -
IRE - A (158 ~188F) 3h HER - 120 -
\RE - £ 4 (BFESL) 1h s - 40 -
—fi% -4 (9FF ~ 120%) 3h ek - 240 -
— % -4 (1285~ 150%) 3h % - 240 -
— & & (158~ 18/F) 3h #E% = 240 -
—fi% -4 (BsfE4)) 1h b - 80 -
S #nE (9BF ~120%) 3h % - 120 -
= i (1285~ 15/F) 3h ik - 120 -
= #i5E (158F ~ 18FF) 3h % - 120 -
= iinE (BFRESh) 1h i - 404 -




